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DAF 3I24. MANAGEMENT ACCOUNTING

Answer all questions

Calculator is permitted

f. i. How does 'l\,lanagement Accounting differ from ,Financial Accounting' and ,Cost

Accounting'?

(03 Marks)
ii. How are changes in technology affecting Management Accounting?

(02 Marks)
iii. An existing company has a machine which has been in operation for 2 years; its

remaining estimated useful life is 10 years with no salvage value in the end. lts
current market value is Rs.25,000. The management is eonsidering a proposal

to purchase an improved model of similar machine which gives increased

output. The relevant particulars are as follows:

Purchase price (Rs.)

Estimated life (years)

Salvage value (Rs.)

ftIethod of depreciation

Annual operating hours

Seliing price per unit (Rs.)

Output per hour (units)

Material per unit (Rs.)

Labour cost per hour (Rs.)

Consumable stores per year (Rs.)

Repairs and maintenance per year (Rs.)

Time: 03 Hours

Existini Machine

60,000

12

0

Straight line method Straight line method

1 ,000

3

15

0.40

11

2,044

3,000

Now Machine

'100,000

10

0

1,000

3

30

0.40

16

'1,000

2,040



Working capitat (Rs.) 10,000 20,000
lncome tax rate SEo/a SS%

Should ihe existing machine be replaced? Assume that the company,s required
rate of return is 10%.

(15 Marks)

(Totat 20 Marks)

2. i, Outljnes the steps you would take to improve the efficiency of cash management.

(05 Marks)
ii. Explain the following terms.

a. Zero Working Capital

b. Core Working Capitat

c. Over Capitalization

d. UnderCapitalization

(05 Marks)
iii. You are supplied with the following information in respect of Rainbow (pvt.) Ltd.

for the ensuing year.

Production for the year 69,000 units

Finjshed goods in store 3 months

Raw material in store 2 months, consumption

Production process ,l month

Credit allowed by creditors 2 monihs

Credit given to debtors 3 months

Selling price per unit Rs.50

Raw materia, 50% of Selling price

Direct wages 10% of Selling price

Overheads 20% of Selling price

There is a regular Production and Sales Cycle and wages and overhead accrue
evenly. Wages are paid in the next month of accrual. Materjal is introduced in

the beginning of production cycle.

You are required to find out the Working Capital Requirement of the company.

(10 Marks)

(Totat 20 Marks)



3. i, What are ihe tax consequences on dividend policy?

ii. Assume ihat the expected dividend (D'l) on each share of common stock is

Rs.4. Each share of common stock is currently trading at Rs.35 and has an

expected growth rate of B%. What is the yield on common stock?

(5 Marks)

iii. Stock A has an expected groMh rate of 14o/a for the fjrst 3 years and 7olo

thereafter. Each share of stock just received an annual Rs.4 divjdend per share.

The appropriate discount rate is 15%. What is the value of the common stock

under this scenario?

(12 Marks)

(Total 20 Marks)

4. A small company produces two types of toy cars: lvlodel A and Model B. Each car

requires in its manufacture the use of three machines M1, M2 and M3. To produce

a ModelA car it requires the use of lvll for 2 hours, M2 for '1 hour and M3 for t hour

and to produce a Model B car it requires t hour on M1, 2 hours on Mz, and t hour

on M3 The maximum number of l\y'achine hours available per month for the three

machines M1, Mz, Mg are respectively 180, 160, and 100. The company can make

a profit of Rs,80 on a ModelA car and a profit of Rs.120 on a Model B car. Further

the company can sell all the cars it can produce.

Formulate a Linear Programming Model that can aid in detemining the maximum

profit strategy. Graph the constraints of the Model and show the feasible region.

Determine the maximum possible monthly profit that can be expected.

(Total 20 Marks)



A project has been analyzed and the estimated times (in days) for the activities

are shown below.
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iv.

Draw a Network diagram for this data

calculate the Earliest event times and Latest event times.

Find the Critical Path and the total time required for the project

Find the total float for each activity

(Total 20 Marks)

Activity Times (days)Activity Times (days)

1-2 12

1-3 3

2-4 3

3-4 3

3-5 18

4-9 15
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